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PAPER-II Paper ITIERE:
SECRETARIAL ABILITIES
(ENGLISH & TELUGU) S D
Duration : 150 Mlnm:. Max. Marks : 150
INSTRUCTIONS TO CANDIDATES SRS Srster

1. Please check the Test Booklet immediately on

opening and ensure that it contains all the 150
multiple choice questions printed on it.

. Separate Optical Mark Reader (OMR) Answer Sheet
Is supplied to you. The OMR Answer Sheet contains
Hall Ticket Number, Paper Code, Booklet Series,
Venue Code, Signature of the Candidate and
Invigilator etc.

. If there Is any defect In the Question Paper Booklet
or OMR Answer Sheet, please ask the Invigilator
for replacement.

. Since the answer sheets are to be scanned (valued)
with Optical Mark Scanner system, the candidates
have to USE BALL POINT PEN (BLUE/BLACK) ONLY
for filling the relevant blocks in the OMR Sheet
including bubbling the answers. Bubbling with
Pencil/Ink Pen/ Gel Pen Is not permitted in the
examination.

. The Test Booklet is printed in four (4) Serles, viz.
AorBorCorD.The Series AorBorCor D is
printed on the right-hand corner of the cover page
of the Test Booklet. Mark your Test Booklet Series
on slde 1 of the OMR Answer Sheet by darkening
m appropriate circles with Blue/Black Ball Point

Example to fill up the Booklet Series :
If your Test Booklet Series Is B, please fill as shown
below :

TEST
BOOKLET
SERIES

c0e®

If you have not marked the Test Booklet Series at
side 1 of the OMR Answer Sheet or marked in a way
that it leads to discrepancy In determining the exact
Test Booklet Series, then, in all such cases, your
Answer Sheet will be Invalidated without any further
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6. Each question is followed by 4 answer choices.
Of these, you have to select one correct answer
and mark it on the Answer Sheet by darkening
the appropriate circle for the question. If more
than one circle is darkened, that answer will not
be valued at all. Use Blue/Black Ball Point Pen
to make heavy black marks to fill the circle
completely. Make no other stray marks.

e.g. : If the answer for Question No. 1 Is Answer
choice (2), It should be marked as follows:

HON NONO)

7. Mark Paper Code and Hall Ticket No. as given in
the Hall Ticket with Blue/Black Ball Point Pen by
darkening appropriate circles In side 1 of the
OMR Answer Sheet. Incorrect/not encoding will
lead to Invalidation of your Answer Sheet,

Exomple: If the Paper Code is 40118 and Hall Ticket
No. is 101190000123, fil as shown below :
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PAPER - 11
SECRETARIAL ABILITIES
1.  Which of the following diagram best indicates 4, Select a figure from amongst the Answer
the group of Figures which will continue the same series
Sun, Moon, Stars as established by the five Problem Figures.
1808 I8’ D Her0 Hrdogh, InTollAN T V) Bod DY BB Berers
SE =R HO (HSDoDN0A 7 SIPNOIERE Jen™ SSrers Hareres®
-+ D DEFD), 180508,
. . O Problem Figures / 55 Heéren :
@ OO@O ® o ofe X of® x X[* X X[o % x
.00000.0000.!0'
. & & o/0 o o » o * X x
® o ole » B . k3
) (2) (3) (4) Answer Figures / HS» Dere
e @1 @2 _3 :’.".‘F:’.‘::’.';‘:’.‘:
- If the rectangle represents = private g =5 ) i

employees, the triangle represents rural
people, the circle represents doctors and the
Square represents graduates, which of the

following represents rural private employees, 5.

who are graduates ?

&8 SédHo (e GO,
B0  |1rhe  |Psod, Syso
DO, é&g}éo VPO
DY, (800 FES” H&ZHBS (Mo
|23 a&He% & ArONoA ?

/ .
2 @ 6

8 7 (4) 5

3. Which of the following diagram best indicates
the group of ’
India, Andhra Pradesh, Telangana
Bod &8S' d Heo rossso,
[TTellaYat BOOTrROS S8
(D8DODYOA ?

O
009 Co@o
(1)(4) @ 1 &

1 @ ®) (@)
2 2 @3

40318 _ 4

/(”/W (B) ©
D @ A @B @cC

Find out the right figure from A, B, C and D in
the place of ‘?’ to continue the series.

BN  TIRosEoe 2 Fdod*
BOASOVS DTS HEFA) A, B, C,he
oA oS04,

Problem Figures / 350 s Hérewn :

XX -

Answer F’[ﬂm / RSFGrS Hérexn :

PaS[ Dt i Pas

Ay (8 © (@
D @A B @C
Find out the right figure from A, B, C and D 1o
complete the figure given below.
1808 Herd)doaygo FavardE A, B, ¢,
D © 0o OB JerQ) H0os0A,
Problem Figure / 55 ¢ H&0 :

o lo
AN
o\

o

Anmr Flrgu_rulcﬁo'ﬁrw Sdren :
oS | Y| |

)W(A) (B) (C) (D)
D @ A (3 B (4 C
Series-D
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10.

-1,

Arrange the following words In alphabetical
order and find the 6™ word,

& 808 aS) doodH ®Es EHos
BN 6 ATV S DTS,

Discipline, Dialogue, De¥erity, DimoXGIon.
Diameter, Diag

, Devour
(1) CBiameter Z %Dialogum/’

(3) Discipline i Dimension
Choose the word which is ditferent from the
rest

(1) Brinjal (2) Cabbage

(8) Cucumber (4) Papaya

Bod o488 DSyor &Sy oD
$fS0A.

(1) SoscH 2) ssZas

@) OJsan B How

Find the minimum number of straight lines
required to make the given figure.

(808 2DYN Herd) V8oLV
SQROMT AR HEC Bpen s*ard ?

yxr
=@

(3) 14 ,(4)/16

There are two similar figures given below with
some numbers. Looking at the first figure
carefully, fill the suitable number in the
second figure in place of ‘7",

Bodh 2.8 erotd Heren ) Hopiod
e & (ol ST, Inesés
HEF) ST B0V, Dot HeyoS
Wy 080 (7)) &) aodlens
ROPIA S FS0A.

(1) 280 (2) 202 (3) 303 (4) 100
Find out the right one in place of ‘?".

M 17 @ 11

¢ 7 P08 Gomd)d oS o0

40318

hBoiod.
TBLD, VEPI, XHTN. ?

(1) ZKXP (YZJIVP  (3) ZVUP (4) ZKXS

12.

13.

14,

18,

A6

—~15

Study the following number sequence and
answer the question below :
486251473985726315824863
862243496

How many odd numbers are there in the
sequence each of which is immediately
followed by an odd number 7

1808 D) (AAD 2B 550D, T°0
$od ASAS |HNKH  DSrorso
ovaHod. : _
486251473985726315824863
852243498

' D FSS" 2.8 23D Jopg 1HKHS L B

Qops STWPT V) B Dopgen
G o ?

@ 1 (3) 2

Find out which of the letter series follows the

given rule.

Number of letters skipped in between

adjacent letters in the series is In the order of

12, 22, 2.

(808 DY ATHEIR) ®DI00T 8L s

BFS D7

\SDorr 12, 22, 32, --- ¥ oren (DH¥0E

VS 0© DY D08 S Yo,

(1) EGLV (2) ACKR

(3) DFLO (4) KMuUZ

How many dots are there on the dice face

opposite the one with four dots 7

B0 3OS’ 4 DR oK dSB™ Dy

e v o ? '
L)

(4) 4

e
% ¢ *i%

)/ s e
(1) 6 @2 3 @34 jﬂ/2
Two positions of a dice are shown below.
When six is at the bottom, what number will
be at the top ?

Ooth P &d) a8 JO 8o
RS SDB0E. 6 (808 @)D DS AN
OO ?

” e .
® 0 o/ * °

i) (i)
@1 @2

4y4”
Series-D
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16.

17.

18.

18.

330

How many triangles are there in the following
figure ?
1808 3008" 2D |B2H2zen ST ?

XX

Ay 28 @) 36
(3) a2 (4) 24

How many squares are there in the following
figure ?

(808 H&r0d* Ay é&éﬁ%‘w S0 ?

(1) 38 2) 24

@) 32

In  certain coding method, the word
QUESTION is encoded as RTGQWFSJ,
what is the code word for the word
RESPONSE ?

&8 S'A0% HHBS" QUESTION & T
RTGQWFSY rr '8 ), RESPONSE e
AT der 88 T 7

(1) SUDRNKAW (2) SUDKNRAW
(3) SDVNKRWA A4 "SDUNRKWA

From the four positions of a dice given below,
find the colour which is opposite to yellow.

808 /DS 2.8 0 & Trenrh
FTOD 550 yellow  SoHd
S5BBEOM &) S0k DA 2

‘eliow, Bive
QOrange é
AY Violet

(3) Biue

Red

e |£

(2) Red
(4) Rose

In certain coding method, the word HRDP is
encoded as XHTF. What is the code word for
the word LVHW ? ‘
8 G 2736S" HRDP D XHTF r &5 3,
LVHW R D ddor $8 Irch 7

(1) . YLMX () YMxL

(3) BLXM (4) BMLX

\licloté Rose | >

40318

(-

21.

23,

in a particular code language, ‘lop eop aop
fop’ means ‘Doctors are above laws', ‘fop cop
bop gop’ means ‘ Books were above table’,
‘aop dop uop gop’ means Doctors stopped
reading books’ and ‘cop Jop eop uop’ means
' Reading maps were laws'. In the same way
‘Books are reading laws’ means
28 (DBE 88 oras ‘lop eop aop fop’
©OD ‘8 &8 IE'S %, w0 ‘fop cop
bop gop’ @0®) '2n8) S5 JES Erands’
©Q), ‘aop dop uop gop' wo®) ‘a§8)
8 Ao a8y &, ‘cop jop eop uop’
@0t 'BAOK Srgy 38 erty sond o
TAS" 28y 6B BACK erty ®ol)
44 o o0 e
(2) 'bop cop uop eop’
(3) ‘lop gop eop uop’
(4) ‘oup cop lop acp’
Read the following statements carefully and
choose the right conciusion :
Statements :
() Al scholars are observers. @
(I) - Some boys are scholars.
Conciusione ;
(1) Some scholars are not observers,
(2) All scholars are boys.
(_3} Some boys are observers.
(4) Allabservers are boys.
(808 BDY¥ HSSTOD DA BN
TSR DRSO 7
- DSYaren ;
() HOFEHOOSEr HBeen.
(i) FodHod arenth 583 soen.
AT Swen :
(1) S08508 H0F%5en 56%0%en sy,
(@) DOTGHe0SEr arends.
A To85008 2rendh 569056,
(4) JOOHOOSEr arerns,
in a particular code language @ means

‘greater than’, # means ‘less than', $ means
‘not equal 10’ and % means ‘equal to’, It is
given that Q@P, 3P% 2Q, Q%R, and Q%3R,
then

a8 86 v’ @ wof > # ®0%)

$ QQO!) #, % ®0o%) =,,

Q@P, 3P% 2Q, Q$R, Q% 3R e

(1) 2P$4R (2) RepP

(3) P#2R (4) 2R%P

Series-D
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Q. No. 24 —~ 28 : Read the following Information

carefully and answer the questions glven below :

A, B, C, D, E, F and G are seven persons who travel

to office every day in a particular train which stops

at five statons - S.R.Nagar, ES| Hospltal,

Erragadda, Bharat Nagar and Moosapet

respectively — after it leaves the base station.

*  Three among them get in the train at the base
station.

. D gets down at the station next to the station
at which F gets down.

. G gets in at Erragadda and gets down with C
after having passed one station.

. A travels between only two consecutive
stations and gets down at Moosapet.

o B and D work in tho same office and they get
down at Erragadda,

. None of them gets In at ESI Hospital.

. Both C and F get in at the first station after
the base station.
a E gets In with two others and gets down alone

at the station next to the station at which D
gets down.

. None of them gets down at S.R.Nagar.

24 - 28 : 1808 JSrarod) ;S SAD,
- T |80 &) (H¥) ok SSreard s0d.
@, 0,0 0,2 D BT 7 0B SiHen (HS
o add 28 pend® (Hosrmo IFH. o
Ben BD PASS 20HenBF0 S.eb.S45,

RNV TRIOS, DB, FESSHE, Sy y

' 0% 5 PARS etbeod, ,
/ S SiHen BIH PASS' Do
INISVPE . Jo\)
o JD OAS PAS SH>S PASS A
Othesdto.
S0 2 IBHG VASS' D8y, 2.8 DAS i8S
S$Hared D' OV Atherch,
‘o 2 DO IDNHDHS A0F HHSe S
DSBSy, Jararhads' aners.
o D A YL ¥ whnS KT
ASHGS' dbverss.

v ROR RIS PASS DSEF 2500,

¢ D IMew BH PAS Sored I,
ALANEE VASS' DSy,

o 3 T P08 5O Den 8. & BAS
DS SBo7S PASS' 2.4, 8 Sihvarch,

o NGB, 58 PASS' ISE® BK.

24. At which station does B gets In ?

(1) BharatNagar (2) S.R.Nagar
(3) Base Station  (4) Ermragadda
D, D PASS' 80T ?
(1) 258358 (2) QR.e8. 558
(3) OIS (4) ASKG

25. At which station does G gets down ?
(1) BharatNagar (2) S.R.Nagar
(3) Moosapet (4) Ermragadda
3, D DRSS’ e ?
(1) 368558 (2) DDasE SKB
(3) VDL 4) B8

28. E gets down, how many stations after F gets
down ?
(1) Four (2) One
(8) Two (4) Three

O ONS dlhard 8)S BaASS =
AHEE ?

(1) 48 (2) 1
(3) 25 (4) 35
27. At which station does E gets down ?
(1) Data inadequata.
(2) ESI Hospital
(3) Erragadda

(4) Bharat Nagar
LB RASS Aher ?
(1) ©ID dSrerdo
(2) VD FVHYLS
(3) ABHG
(4) 258 16

28. At which station does A gets in ?
(1) Bharat Nagar
(2) S.R.Nagar
(3) ESI Hospital
(4) Ermragadda
Q, @ PASS' ST ?
(1) FEEI68
(2) dN.eB. 18
(3) AP FALS
@) B0

Series-D
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31.

/,ey/:acsms

T 32,

40318

If PAQ implies P2 + Q2, PBQ implies P2 - Q2,
then what is the value of (5A8) B (3A7) ?

PAQ, P2+ Q2D JrdR PBQ, PP- @2 D
SR (5A6)B(3A7) Dendd O ?

(1) 357 (2) 287

(3) 327 (4) 347

If 6 x 8 =10 and 8 x 8 =V145, then what is
the value of 9 x 40 ?
Bx8=10 0805

;;/9)- V145 ©0DE, 9 x 40 DeNS OeS ?

41 (2) V197
(3) 40 (4) 31

A river flows from west to east and on the way
turns left and flows some distance, then goes
in a semi circle around a temple, and finally
turns left in right angles. In which direction is
the river finally flowing ?

(1) South (2) East
(3) West (4) North
a8 SO JBNE Dod Erd) I
DSrBIN0S. & 1Hor@od D
S5 &80 Fod ArS0 (HATBoNS
SETS, .8 HA D&Y ©f SyTs o
1DOSrBoD), VI8 voatnos ddsH
BN 8ON0H NSO IO D aw‘
(HATLDNOH ?
(1) &8=o (2) &rdd)

4) &ddo

Starting from a point a person walks 1 km to C
east, then he tumns to the south and walks for
5 km. Next. hetumseastandwalks2km,,
After this he tumns to the north and walks for
9 km. How far is he from his starting point ?
8 |98¥0 Hod achenddd & I8
S &S’ 1 km SADS Shareh, S8 w0
SIS A0 5 82, SATTD. © ST
OSD AN IS SON 2 km SATA. &
SHTd s adlo Bk A8A 9 km
RO, 8D AL 20HeNTTONS
S0 0D o &rdods’ darydhy ?

4% 6km (2) 3 km~
(3) 4km (4) 5km

If odometer is to speed as compass is to
(1) Direction (2) RADAR

(3) Hiking - (4) Needle

L8 ool IrdE HowodR ‘Sow’
B8 H0220800D048 ?

Mb&& (&)

oad
8ol (dibdiw)
DAL (Jwe)

(@)
3
(4)

Find the odd one from the following :
1808 58S’ DS o &od DO ?
(1) PRUY (20 MORV
(38) HMQ (4) RTWZ

In a lake, there are 10 steps laballed using
numbers from 1 to 10. Starting from step 1,
every minute a frog jumps 10 the fourth step
from where It started i.a. 5 and from 5 it would
go to the step 8 and from 8 it would go to 3
etc. Where would the frog be at the so"
minute if it starts from 1 ?

2¥ ToHd’ 1 S ©08 SHod 108 ®o8
830 MHB0DHDBS 10 e S, 2.8 §5)
D8 OADE &8 A%y Dy SHod
T DAY D Ar%dhod.
GOrORH 1 OB 55 WEYPSE, 5 Hod
925 EPS, 9 0B 35 P8 Srsoehod.
15 Dol &0d Dnchen DAB £ 605

X DH0S DSy DY Ms dronod ?

(1 8 @ 1

4 S

@ If ‘p’ means +, ‘g meane —, ‘¥ means x, ‘'

means +, what is the value of
115q216p87r168s12p406q258 7

p @0 + ®d, g o - ¥, r wodh
x D, s @OF) + 200,

115q216p87r168512p406G258 Densd DO 7

(1) -572 1265 (3) -—-486 (4) 543
Which word does NOT belong with the others
(1) Jowar (2) Wheat
(3) Mustard (4) Paddy
(808 8BS’ DS1om &S O B 7
(1) &) 2 o

—3) BN 4) 30 =

-

SerlesIf

s
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@ 1

If the word “UNIVERSITY” Is reversed and In
the reversed word third and sixth letters are
interchanged, what s the sixth letter from the
left ?

UNIVERSITY &3 HmrR) &8ard BN,
8 S0) d008 Srds, eos
oo HEHYWBo  Sr8)SHond,
BT oA 85 EB0 O ?

(1 s /{H

4) E
Pramod walks 4 km from office, tums right
and walks 3 km, then he turns left and walks
8 km. Again tumng loft and walks for 3 km. At
the end, he notices that he is facing towards
west. In which direction was the office from
the present place ? -

(1) South (2) East
(3) West (4) North

OIS S WP oS 4 8. SAD,
50038 30A3 8., IAD, ST A
D58 388 8 85, SAD HP B 3D
SO 3 L. AW, DG ©SH
SN OFH OB HSIED BDHAR,

DS P30 D0A BS B ) OFS’
&o&?

(1) &&wo (4’2(&'&3

@) DSBS 4) &S50

inA B C, D, ..XY,Z(26 letters series)
which Is the 8™ |etter to the left of 8 letter
from the right end ?

A B,GC,0D,.... X Y, 2 (28 §0e 550) &'
08 D38 Hod 95 wEoNE 8D

1582 &) 65 ®F B0 I8 ?

() M 2) J

(3) K ke
<

1.

42.

46.

Find out tho next number in the following
series.
1800 F3A3S" S$hare JopsR §FS0A.
1, 1,5, 49, 11, 169, 15, ?

361 (2) 256
(3) 324 (4) 529

Find out the next number in the following
series :
1808 T3S’ Sare Sowid SoiSod.
45678912, 5678912, 567891, ?
1) 678912 (2) 56789
(8) 67801 (4) 567892

What is the missing number in the following 7
1808 (FAS® S0 Do B ?
300, 296, 287, 271, ?, 21?

(1) 248 (2) 244 (3) 246 (4) 250

What is the wrong number in the series ?
808 FAS’ $)m a) Hops O ?
28, 84, 112, 196, 308, 504, 872

(1) 872 (2) 84 (3) 308 (4) 504

If A+ B means A is the mother of B, Ax B
means A is the husband of B and A + B
means A is the daughter of B. In the
expression Y x Q + Z + K, what is the relation
betweenZand Y ?
(1) Z s the father-in-law of Y.
(2) Zlsthe fatherof Y.
(3) Zis the mother-in-law of Y.
(4) Zis the daughter of Y.
S+ ©oH J,OTY), $D, d x D wo®H
* o) @&»S& 8, & £ D w0 J, D TE;
Brsodhd oond, P x drp+ 28 4+ 1
288 38 s Ad1N020H0 DO ?
(1) 28, 8 gy Srmed
(2) 25, 3 Qs Sod
@) 258, 3 JwE) o
a8, B Bgy H08r8

Find out the next number In the following
series :

1808 A’ dSare HOPIR EMS0A.
0,2,3,4,8,8,15,14,7

(1) 28 (2) 28

3) 22 (d—24
®) ' 4 Gu_,
SQIH-D
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47. At what time between 10 and 11 a'clock will
the hands of a clock be in the same straight
line but, not together ?

10

(1) 21— min. past 10
11

(2) 22-9- min. past 10
T
10

(3) 22-1-;' min. past 10

¥ .
(4) 211—1 min. past 10

10 f50. 11 Ko.0 Su¢sg 8BTS0’ Bock
Sweper MDossioar 2.8 H8¢ Bps*
DI FOLTON ?

10
(1) 10/0&e 21 T o
9
(2) 10506.)0223 .

(3) 10 ﬁoc.wzz-l-g Q.
11
9

%ﬂo ot 21 = D,
11

48,

What was the day of the week on 8™ October,
2004 7
(1) Saturday (2) Monday
(3) Wednesday (4) Fricay
8 ©F25, 2004 A 2 SC0 WONOS ?
(1) ¥Qardo (2 dardo
AS) angarso 4) HE>S0
48. The calendar for the year 2018 will be the
same for which of the following year 7
2018 oIS Y50 S BOND, & L906
TBS D HoISB0 SEBoRsY O
&0tn0S ? ,
(1) 2031 (2) 2023
_A8T 2029 (4) 2030
40318 -

10

51,

Sunitha started from her house towards
south. After covering 12 km, she turned her
left and travelled a distance of 5 km. What is
the shortest distance now from her house ?
VS S5 RO o Sfwo OFS
(ROSTBRN0A. 12 km (DSOS
SHTS 6D &8 B SH% H8A°
5 km |DArdood. ag,d SHod &8
20838 o)) Erd0 Do ? Jy

4y 13km @ 17km IS~
(3) 7km (4) 23%m \_‘S‘o;

The angle between the minute hand and the
hour hand of a clock when the time is 5.25 is:

(1) 125 Degrees (2) 11%Degrees

(3) 113Degrees  (4) 125 Degrees

5 fobe 25 Ao  HHohod
BACrS0S'D fote JneE, Adare
SweREs & F'eo does ?

) 125 Afes @) 113 Aifes

@ 117 G (@ 12} Aen

Introducing a person, a lady said, *He Is the
son of the brother of mother of my father."
How Is the person related to the lady ?

(1) Uncle (2) Brother

(3) Cousin (4) Nephew

8 358 HOWCHo T 2.8 A &
QPO TIDYOA. “BSD J* SO TwE}
SO FOHG TWH". & 958 8 DI
DeYEr 7

(1) eoRd (2) SN
/@fﬁ& T(4) osendo
Series.D
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¥ 5,000 amounts to ¥ 7,500 in 5 years at a
certain rate of simple interest. If the rate of
Interest is increased by 8%, T 10,000
amounts In 3 years to

(1) T 15,400 (2) 214,500

(3) ¥ 15,000 (4) T 15,200

o H6¢ 3@ Bens' & 5,000 ewdew
5 HoSS oS’ &, 7,500 InSo eanod.
5 Bend 8% oS &, 10,000 ©3en 3

005830°8" Do TS0 WHH0A ?
(1) & 15400  (2) & 14,500
(3) & 15,000 (4) & 15200

The difference between simple and
compound interests compounded annually
on a certain sum of money for 2 years at 6%
per annum Is T 36. What is the sum ?

Fod ) Dot H0SS Yo%) 6% &
Bend' H6¢ 3@, WEsde Fso T 36
©onS, ¢ B20) o ?

(1) ¥ 12,000 (2) 8,000

(3) ¥8,000 (4) T10,000

Speed of river Is 8 km/hr and speed of a
motorboat In still water Is 32 km/hr. How

much distance can it cover downstream in 40
minutes ?

S8 Fo 8 Sdosrody DB Do
ABS' DEHAS Jo 32 Xy sMos
vond HITNE Tnd 40 S
& DS D0 BTS00 oS 7

(1) 255 k8. (2 263 kv,

i 26k 8, () 252 ksl

40318

A vessel is filled with liquid, 3 parts of which
are water and 5 parts syrup. How much of the
mixture must be drawn off and replaced with
water so that the mixture may be half water
and half syrup ?

2.8 MSSN (508" 3 Sohen Dy,
5 Sohen DD @od. MéS'od D
S8Sremod’ (BSo Sofod, d Frdos
A% AoDE, ID)S wFS0S BKo HX,
Mo VST AoLrow ?

Mg @z @ ® 3

(ua/ 240 20402
(3) 480 0.2

11

1
o

What i surface area of a 12 om x 10 em x 5 em
brick ?

(1) 240 cm? (2) 230 cm?

(3) 480 cm? (4) 460 cm?

12 DO, x 10 VO.M. x 5 VoMo
Fodcn fo adtns A Sogéw
STE0 DO ?

(2) 230 0.2

4) 4600212 oy
s

If height of a cylinder is 50 cm and radius is

14 cm, what ig the volume of it 7 JES
(1) 33,800 cm? (2) 30,800 cm? =
(3) 32,800 cm® (4) 31,800 cm?

%8 QProo BwE) S 50 0.0, Trdo
14 20D wod, TR D& HOSrD0
20 ?

(1) 33,800 D022 (2) 30,800 0.503?
(3) 32,800 RO (4) 31,800 RO.?

If area of a square shaped plot is 18,225
square metres, what Is the length of diagonal
of the plot (approx.) ?

(1) 225m (2) 180m

(3) 135m (4) 125m
BHOTE0S &d) 2.8 Yen Freo
18,226 W9AGR) WOP vond, & Jen
¥y Ego FSToS (Trom™) ?

(1) 225 e (2 190 &

(3) 135008 14y 125 Hood

There are 40 people in a group. If all shake
hands with one another, how many
handshakes are possible ?

2.8 HJarrocs 40 208 Sg¥en dayd.
B8 2580 (B8 2508 sSorodso
SR o AJ) SToTen S0
©IT O ?

(2) 390

(4) 780

» Series-D
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Three pipes A, B and C are available to fill a
tank. The time taken to fill the tank by A is 15
hours and by B is 10 hours. The time taken to
fill the tank by both A and B together Is equal
to the time required for C to fill it. How much
time is required to fill the tank by all the three

pipes together ?

(1) 8hours (2) 3 hours

(3) 4 hours (4) 4.5 hours

2, D, D T MEren 2.8 erod dodards
®otozrensS darow. @ rgofd
D 15 5o&s, D 10 Ko’ dodywrow.
D O e Bodr DD e Erzosd
oJTE 3 JI2AHO D' @ ergoHd
AOITAE I IHOPDE  JSrSo.
A ey 5O & erposd

NOJTNE D0 HDONO H0A ?
(1) 8 fo&ren (2) 3K0&en
(3) 480&en (4) 4.5 foden

Anil can complete a‘work in 15 days by
working 8 hours per day. Sanjay can
complete the same work In 25 days by
working 6 hours per day. If both of them work
together 8 hours each per day, in how many
days the work will be completed ?

13 11

(1) 635 days (2) 827 days
1

(3 73 days (4 759 days

©QS Farih 8 KoL SIS HOTL 2.8
SN 16 Tard’ 30 k. w2 5O
Doaddh Fardh 6 Hode YIS HATD
25 Sarg 530 TT®. TOQEr T
8 Kobe TS 0N HATYH ¢ /D
FESrRE I Faven Hodo0d ?

(1) 622 Bareo (2 61 Bwven

3) 7-;—71 Ferer  (4) 7%;} Toren

A and B can complete a work in 60 days, B
and C can complete it in 80 days, C and A
can complete theBs:Ime womgyzo days. ;n
how many days, B alone can do that work

D, D en 2.8 HAD 60 Fré' 8 IJ .

of S D, » e 80 Hrd B, O e
120 Ford’ 50 TYG. @ HAJ D 28,8

D) Ford’ 30 T ?

(1) 88 (2) 90 (3) 92 (4) o4

Walking at -E of her normal speed, Anjali takes

20 minutes more to reach her office from
home. What is the usual time taken by her to
cover the distance between her home and
office ?

(1) 20 min, (2) 120 min.
(3) 100 min. (4) 44 min,

Srdwrenr SAT Jnods g S Soh

Jtod AR ®oad), 208 SH0A adhing
BETVS 20 AW 80 HS0A.
OO S 208 Hod ehHhH®
JEERAE D0 HHONO HES0A ?

(1) 90Qareny  (2) 120 ddaren
(3) 100 Qwaren (4) 44 AN

Train A leaves Secunderabad station at 6 AM
with a speed of 60 kmph towards
Visakhapatnam. Another Train B leaves
Secunderabad station at 8 AM with a speed
of 80 kmph towards Visakhapatnam. How
many kllometres from Visakhapatnam will
traine oross each other, if the distance
between Secunderabad and Visakhapatnam
Is 800 km ?

(1) 375km () 225 km

(3) 360 km (4) 240 km

D o3 Do adcho 6 Hotes
VoS PAS 0B ITPHer DS
60 8. 20/110& Frod’ 200008, T
B D adano 8 Kot diooard
AT D08 rpHery D8 90 8.5 K0k
F08 acHeBSdé08. HeoorarsE
ATDRIEMDE Dy &S0 800 8.
®B, ITPHEME Jod drdoss

Do By 2.8 oA HTEES oo ?
(1) 3758.%. (2) 2258.3.
(3) 360 8.%. (4) 240 8.2
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88. Ratio of salaries of Kiran and Suman is 4:5 [89. 15 workers working for 9 hours per day can
and after a hike of ¥ 40,000 each in their mmefoba WO:I in 83'4-’h days. Noga many
salarles the ratio changed to 5:6. What Is the workers Dy working 8 hours per day can
current salary of Suman after the hike ? complete the same work in 20 days ?

15 500 T8 9 Ko&e TS HATD
(1) ¥252,000 (2) ¥1,80,000 32 Bred’ o8 HD JX%. Jos $H00
(3) ¥2,16,000 (4) T2,40,000 250 8 HOL® 137390 DTN &8 HAD
8565, DS Hwren 4 : 5 DAYRS 20 82’ 530 IS ?
A" 0N, 2P0 & 40,000 TS Ao (1) 28 (225 (3 26 (4) 27
RONS SO>S 8 e DB 5:6 (70 :1"3 n;:‘nﬂﬂy er!ﬁtﬂg;‘y zil".tzgrr;e ‘;pea: isnﬁxt:g
©o0d, BS0 DOAS SHd 00 g T N O -
g actual consumption of power per unit price. In
0EL WS 80 o6 ? a particular ':%nm for 500 units, the total
. _ 1,80, electricity bill was ¥ 2,000 and in another
() 6r.282000 (2 &r.1,80.000 month for 650 units, the total bill was 2 2,450.
(3) &2,16000 (4) & 240,000 | What will be the electricity bill, if the power
67. Azeez boughi a scooter for soma amount and (c.?)nsgrg'psﬂ‘:;‘ T un(ité‘) ? 72,675
spent 20% of It for repairs. After the repairs, (3) ¥2,650 4) 22,700
he sold it for 30% profit. In the process Azeez o3 desé Denes* od o
made T 3,600 as profit, what was the amount Do 2 6;& T3S0
FEPOOR 0 [N € DOTIACDN DM CrdeS 656
o5 .8 Ay &8 Foeh wERE TR, TR0 S, 2.8 Y Do s00
TUR 20% ODAK P DNk, S RTIE DTS &> 2,000, B
BoNS SOIS V) 0% eronl o' 650 CHPIE DARFTIE & 2,450
o8, odlH T 3600 erdio SN, Dep D08, 726 cHIVY DS
A8 DR BoNS PH) o ? AATrrRE o Dep SHod 7
(1) 2,700 (2) 1,800 (1) &.2,800 (2) & 2875
(3 2,000 (4) 2,400 (3 Cor2,680 (4) &.2,700
71. Anand, Bharath, Manas and Prakash have
Invested in the ratio of 4:7:9:5 In a business.
83. An Amount waa distributed among A, B, C Anand stayed in the business for 8 months,
and D In the following manner and B's share Bharath stayed for 8 months, Manas stayed
Is T 1,600. What Is the share of D ? for © months and Prakash stayed for 12
A'sShare _ B's Share _ ¢’sshare _4 montha. If the total profit eamed Is 43,000,
B'sShare = C'sShare  D'sShare & mhof‘:nﬂg':m“mk‘:m R X
(1) 3,200 (2) T2,000 (1) ¢5,800 (2) 25,000
(3) 2,500 (4) 3,000 (3) 5200 (4) ¥5.400
508 TER) O, 8, %, A e (805 AOYS U000, 08 IrdR, Peden of
g Tg>S0S' 4:7:9: 5 D58 DePyad
¥5°60 Jothsvodh O Trerm &r 1,600
- VYD, 8 TS0’ sdos 8 Seey,
SN 8 ey o ? o
" P08 6 Joen, PSR 8 Jow, (PN
gL”. ?Lﬁ;‘ - ge?-—a_g .% 12 Sow Aam) 8, IS0 SIS ergo
T 0> &. 43,000 ©00d, 8308, |HSRL PO
(1) &»~3,200 (2) & 2,000 _ ST NS N0 does 7
(3) & 2,500 (4) & 3,000 (1) &~ 5,600 (2) & 5,000

(3) & 5,200 (4) & 5,400
40318 13 Series-D
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if 2 is added to the numerator and 3 is
subtracted from the denominator of a fraction,

the fraction becomes -:; If 1 is subtracted from
the numerator and 5 is added to the
denominator, the fraction becomes % What is

the sum of numerator and denominator of that
fraction 7

a8 HSY0 TwEy o8 2 O, o
D08 3 BVJY @ D0 % 99500,
O30 NOA 1 VI FoVE 5 3ODB &
D320 { ©H%08.6 NS0 Ty ©F,
Joren Jndo o ?

(1) 13 . (2) 10
3 1 4) 12

Difference of the current ages of father and
son Is 30 years. 10 years ago, the product of
their ages was 400, what will be the age of

the father after 8 years ?
(1) S3years (2) 68years
(3) 58years (4) 63 years

a8 S0 A Fse DS Sohve %o
30 Q0SS ore, 10 dodéyore (880 &8
SoHNL ©PO 400 woNd, 8 HoSS oo

S$ared S0|A S0HND N0 ?
(1) 83730107y (2) 68 Moo e
(8) 58 H0Icen (4) 63 doioren

In a garden there are 33,856 trees and
number of rows of trees is equal to number of
columns of trees. How many rows of trees are
there In the garden ?

33,856 BLY Ko 2.8 SO e Shdew,
QAEDH SO JArS0 oS, ©
S’ ) e $&HBen daryow ?

(1) 184 (2) 174 (3) 1768 (4) 188

The average of 9 numbers is 23, Average ot
first two numbers is 25 and the average of
next three numbers Is 17. If the average of
6™, 7" and 8" numbers Is 2 more than the 8™
number, what is 8™ number ?

9 DO i 23. Inces Bodkb Jopge
DD 25, S I doe Dren
17.6 85,7 &, 8 & dogge Hifew, 9 & Hogg
$0% 2 30 3&, 9 S Dopg dos ?

(1) 25 (2022 (3) 23 (4 24

14

Two persons have contested in an election
and 12% of the voters have not participated
in voting. 15 % of the polled votes are invalid
and 10 % of the polied votes are for NOTA.
Among the remalning votes, the winner got
60% and won the election with 2,640 votes

majority. How many voters are there in the
voters list ?

AP SHen ' TS a8 25
12% H0d 4.6 2&» IaHB&. FBS
408" 15% 4,60 TOBX. 10% 4.6 ‘S’
8 Hgrow. WADS 4.4 60% 2,49 0d,
2,840 2,80 DeroMs’ 2585 AOD), ©
L% 2DSS dod Hod L
ARTYS ?

(1) 28,000
(3) 24,000

(2) 20.000
(4) 26,400

If 6¢*=2) = 216 and 6(*?) 7,778, what s
the value of b ?

6(a-b) = 216, 6(@*2) 27778 wawd b
G20 DS )OS ?
(1) 1 (2 4

@ 3 @2

Krishnaiah gave 30% of his retirement
benefits to his wife. From the remalning
amount he distributed 20% each to his 2
children. From the remaining, 50% of the
amount he donated to' a school. If the final
balance left with him is T 42,000, what was
his total amount of retirement benefits ?

(1) 2,220,000 (2) ¥1,80,000
(3) €2,00,000 (4) T2,10,000
onods &8  Aaf  dSHedh

DOVOHOD SD)S InsosS' 0% weéd
oS BTNW. WAOS oo 20%
SN0 S5 [PD VYO Hordh. o5
DAOS oo, 50% 2.8 IETOH oS0
Trd. DI S5 SYS Sr. 42,000
WADE, §yP0H; B &l DESe%

NOROHON IV o doe ?
(1) &r.220000 (2) & 1,80,000
(3) &r2,00000 (4) & 2,10,000
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It the sum of the two numbers is 20 and their
product is 84, what is value of the sum of
squares of those two numbers 7

Bod dopse ndo 20 BN 00
84 o8 & Bodh Homge ST o
INToT: 34
(1) 250
(3) 208

(2) 232
(4) 202

A, B and C are running in same direction
around a cireular playground and all the three
are started from same point. If A, B and ¢
complete one round of running in 42, 68 and
126 seconds respectively, when do they meet
again at the starting point ?

(1) After 72 Minutes 24 Seconds

(2) After 70 Minutes 24 Seconds

(3) After 71 Minutes 26 Seconde

(4) After 71 Minutes 24 Seconds

2,0, D w2 S SymesH us Hoo
& 2,80, 2.8 o Hod 18RSEo
BEoDoTr. 28 JOBSETDE o, D,
0 o (EHorr 42, 68, 126 DED HAS
T Soher 2oHenBod Hood” HP
D0 JDHANO S&rares Ee&H ?

(1) 72.24 . $H>s

(@ 700.24 . S$hared

(3) 71.28 . $SHarss

(4) 71.24 . e

What is the value of 55, 64,328 x125 7
55, 64,328 x125 Dend 20 ?

(1) 60.55,42,000 (2) 68,5541,000
(3) 69,54,41,000 (4) 69,55,41,000
(286+796)2-(286~796)2

286 X 796 -
(286+796)%~(286~-796)?

286 X796 OB 2
(1) 2,164 (2 1,082
(3) 810 _#d

L (b

ot i
s R

18

83. Inthe year 2010, population of village A was

72,000 and village B was 64,000, The
population of village A has been decreasing
at the rate of 300 per year and population of
village B has been increasing 200 per year.
in which year, the populations of both the
villages will be equal ?

2010 dodS B80S A ©F s 2o
72,000, B @ (5 2372 64,000 ™ drod,
A D 2T5” D08 )0°D8 300 WRIN
SPE> Hod. B P ey RD0SS o8
200 WS DHHEr  @od. H
VoSS 80S" Bodky  (rare PRPAS
DArS0 wayErow 7

(1) 2027 (2) 2024 (38) 2025 (4) 2026

L4l ly 2y
lfy +2 3,whatisthevalueof3x ?
x .7 W 2y ‘
= +:= S nncx»a,3Jr WD DO ?

4 8
(1) 3% @ 12
5
@ = @ 2

3 1
Aftoraddlngsandsublracﬁnogfmma

fraction the new fraction Is -; What was the
Initial fraction ?
28 Dy o8 g D O, § D Sad%

; SRV e D087

(1) 765 @ =
®) a5 @ =

Which of the following fractions sequence is
In descending order ?

S0 58S D DIIS esHos
ESos aod ?

7’9’5’7’2’g 7°2°7°8"9'8

$ 31142 §.31421

® 7'5'2’8’9’7 @ 7°5'2’9’7’g
Series-D
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Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. Hence, the meal that is taken in the
morning is breakfast.,

B. The word originated from the fact that

after dinner, we don't eat the whole night

and this is a long time for the body to go
without food.

During day time, we keep on eating and

munching after every 3-4 hours.

People often ask as to why breakfast is

important.

E. But the duration between dinner and
breakfast is pretty long, sometimes may
be equivalant to a fast.

F. The answer lies in the word ‘breakfast’

itself.
(1) CDBEFA A2y DFBCEA
(4) CBEFDA

(3) DBEFCA

Find out the proper'sequence of the following

sentences to form a meaningful paragraph.

A. That no amount of policing can solve the
Issue.

B. The fact that the stadlum was not full and

that touts outside were having a fleld day

shows

It Is odd that large sections of the media

did not report the black market in tickets

during the Royal Challengers

Bangalore-Chennai Super Kings IPL

match in Bengaluru,

E. Something that should have been taken

C.

D.

seriously.
(1) CADEB (@) CEDBA
DBEA (4) CDEBA

Find out the proper sequence of the following
sentences to form a meaningful paragraph.
A. The percentage of population below
poverty line has been decreasing.
B. Therefors, it is a welcome sign, but we
must guard againat our escalating rate of
population growth.
Poverty alleviation Is one of the most
significant programmes.
Although this change Is siow and
gradual, It appears to be consistent. -
E. The extent of success of this programme
can be sensed when we study the
proportion of people below poverty line.
(1) ~ABDCE (2) EDBCA
CBDEA (4) CDBEA

C.

16

o1

)(a{ CFBEAD

FRESHERS NOW

Find out the proper sequence of the following
sentences 10 form a meaningtul paragraph.

A. Moreover, salaries in public sector
enterprises are not as competitive as
those offered by private or foreign
corporate.

B. This trend should be a wake-up call for

stakeholders to examine  why

employees are seeking beter
opportunities with private companies in
india and abroad.

Public Sector Enterprises (PSEs) have

been experiencing savere challenges in

attracting, motivating and retaining their
key staff.

D. Having identified these as the reasons
why employees leave PSEs, it Is
important to empower stakeholders to
find ways to remedy the situation.

E. One reason is that young employees
lured away by private fims are more
willing to undertake professional risks.

F.  Employees in specialist roles especially
have become Increasingly difficult to
retain,

(1) . FECAED (2) CBEFAD

(4) FCBAED

Find out the proper sequence of the following
sentences to form a meaningful paragraph.

A. Japanese toys, for Instance, are in great
demand despite the heavy import duty.

B. The toys that they produce are, almost

without exception, of inferior quality.

Their manufacturers here need to be

reminded of this.

But making them is no child's play.

Toys ara meant for children.

Not surprisingly, many parents prefer 1o

buy the Imported variety even though

these are usually much more expensive.

(1) EDCBFA (2) ADBCEF

(3) ABDFEC /417 ECBFAD

Series-D
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Find out the proper sequence of the following
sentences to form a meaningful paragraph.
A. This sector employs 42 5 lakh Indians

directly, and has created over twice as .

many jobs Indirectly In other flelas.

B. Automation would then replace entry-
level jobs, denying jobs to college-
leavers, and lead to the retrenchment of
mid-level professionals who couldn't
remain relevant via constant reskilling.

C. The landscape of tha $150-billion IT
sector, one of India's largest job-
providers, Is changing fast, owing to
technological advances in automation
and robotics.

D. Butitis gradually moving away from the

linear growth model, with rise in revenue

matching net employee addition, to a

non-linear ona whera income growth is

Indepsndent of additional hiring.

#f cADB (2) CDBA

(3) ABDC (4) BADC

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. By this measure, a poor Indian farmer
with littie debt and little assets can end
up “richer” than a Wall Street banker with
little assets and a large student loan.

B. In 2015, when the report was Issued,
there was criticism of the report's
methodology.

C. Inindia, ag perthat roport, things are Just
as plain, as against the richest 1% of
Indians hoid as much weaith as that held
by 58% of the Indian papulation.

D. The critics argued that the report
assumes wealth Is assets minus debt.

E. From a recently released report by
Oxfam, the global charity organisation,
we leamn that eight rich people own as
much wealth as half the world's
Popuiation In 2018, -

F. These statistical Issues aside, what the
Oxfam repot does show Isn't
necessarily who Is really poor in the
world but that wealth Is a good proxy for
the abllity to Influence politics via

legislation or campaign contributions,
(1) EBDAFC (2Y” BECDAF
(3) BEDAFC (4) EDBFAC

-
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Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. 'Safety first' is the last concem of Indian
road users who think they are like the
provorbial cat with nine lives.

B. Perhaps our numerous engineering
colleges and technical Institutes can
think of such projects,

C. It should be made mandatory to have
rumble strips or spaad bumps on either
side of such crossings.

D. In order to minimise accidents,

E. Powerful blink lights and loud hooters
that can be activated Just before a train

crosses should be thought of,
(1) ADCEB (2) AEBDC
(3) DECBA /(A‘) ADBCE

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. The Centre has since issued rules for
conservation and management, and
chosen 115 water bodies in 24 Statos for
protection support, but this Is obviously
too little.
Loss of natural wetlands is an ongoing
catastréphe in India.

C. A decade ago, when the Salim Al
Centre for Ormnithology and Natural
History released a congervation atlas for
all States using space applications.

D. Moreover, research studies show that
the concentration of heavy metals in
such sites Is leading to bioaccumulation,
thus entering the plants and animals that
ultimately form part of people’s food.

E. It reported the traglc fact that 38% of
wetlands had already been lost
nationally; and shockingly, In some

istricts only 12% survived.
4y CABED (2) BECAD
(3) BCEAD (4) CBADE

Find out the proper sequence of the following
sentences 10 form a meaningful paragraph.
A. Bolder lsn't always better. however.

B. Red, orange and purple are vibrant
colours with energlsing effects to
counter the blues.

C. The eye must catch it, look at it and
study It.

D. Too much colour can be overwhelming
to some people.

E. 8o, if not the change of paints, go for a

- bright-coloured table-cloth Instead.

(1) ABDEC (2) ABCED

(3) BACED (4) BECAD
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Q.No. 97 to 101 : Read the following passage
carefully and answer the questions glven below.

It should be remembered that the nationalist
movement in India, like all nationalist movements,
was essentially a bourgeois movement. It represented
the natural historical stage of development, and to
consider it or to ocriticise it as a working-class
movement is wrong. Gandhi represented that
movement and the Indian masses in relation to that
movement to a supreme degree, and he became the
voice of Indian pedple to that extent. The_main
contribution of Gandhi to India and the Indian masses
has been through the powerful movements which he
launched through the National Congress. Through
nation-wide action he sought to mould the millions,
and largely succeeded In doing so, and changing
them from a demoralised, timid and hopeless mass,
bullied and crushed by every dominant interest, and
incapable of resistance, into a people with self-respect
and self-reliance, resisting tyranny, and capable of
united action and sacrifice for a larger cause.

Gandhi made people think of political and economic
Issues and every village and every bazaar hummed
with argument and debate on the new Iideas and
hopes that filled the people. That ' was an amazing
psychol change. The time was ripe for it, of
course, and circumstances and world conditions
worked for this change. But a great leader is
necessary to take advantage of clrcumstances and
conditions. Gandhi was that leader, and he released
many of the bonds that imprisoned and disabled our
minds, and none of us who experienced it can ever
forget that great feeling of relgase and exhilaration
that came over the Indian people.

Gandhl has played a revolutionary role in India of the
greatest importance because he knew how o make
the most of the objective conditions and could reach
the heart of the masses, while groups with a more
advanced Ideology Tunctioned Ia Jargely “in the air

bacausa they did not Tit In with those conditions and
courd therefore not evoke any substantial response

from the masses. It is perfectly true that Gandhi,
functioning in the nationalist plane, does not think in
terms of the conflict of classes, and tries to compose
their differences. But the action he has indulged and

taught the people has inevitably ral mass
consclousness tremendously and made soclal igsues

vital. Gandhl'and the Congress must be judged by the

policies ey on they Indulge In.
But behind this, personality counts and colours

policies and actlvltias In the case of very excep-ﬁonal
40318 o
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person like Gandhi the question of personality
becomes especially important in order to understand

muf"ﬂndla. the yumlnj of her sonowlng
millions to be rid o Ir innum e burdens, a.nd an
mutt to to him by the British Govemﬂm_mem has

been an Insult to Inaﬁ and her people.

97. To consider the nationalist movement or to
oriticise it as a working-class movement was
wrong because it was a

A7 movement represented by Gandhi
(2) historical movement
(3) voice of the Indian people
(4) bourgeois movement

Gandhi played a revolutionary role in Iindla
because he could

(1) lead the Indian National Congress
(2) preach morality

/(af reach the heart of Indians
(4) 9ee the conflict of classes

Groups with advanced ideology functioned in
the air as they did not fit in with

(1) the differences among masses

(2) objective conditions of masses
_{3y" the Gandhlan ideology

(4) the class consciousnass of the people

100. Which one of the following is true of the given
passage ?

18 an account of Indian National

Congress’s support to the working-class

movement.

(2) The passage is a critique of Gandhi's
role in Indian movement for
independence.

(3) The passage hails the role of Gandhl in
India's freedom movement.

(4) The author is neutral on Gandhi's role in
India’s freedom movement.

101. The change that the Gandhlan movement
brought among the indian masses was

47 Psychological  (2) Physical
(3) Cultural (4) Technological
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Q.No. 102 to 106 : Read the following passage
carefully and answer the questions given below.
Unveiling a mini-Budget of sorts in the middle of the

financial year, the Goods and Services Tax Councli
has announced a reduction in the tax rates for over
eighty five goods. The applicable indirect tax rates
on consumer durables such as television sets,
washing machines and refrigerators, along with a
dozen other products, have been slashed from
wenty-eight per cent to eighteen per cent. The tax
rﬁg\n':ﬁv-lfonmen ly #riéndly fuel cell vehicles
has been reduced from twenty-eight per cent to
twelve per cent, and the compensation cess levied
on them dropped. This leaves Just about thirty-five
products, Including tobacco, automobiles and
cement, in the Wb of the GST structure.
thﬂs without seml-precious stones, as well as
sanitary napkins that attracted twelve per cent GST,
have been exempted from the -tax altogether.
Several other products have been placed in lower
tax slabs, including those from employment-
Intensive sectors such as carpets and handicrafts,
On the services front, too, there are
important tweaks and  clarifications. Overali,
Industry and consumers may consider these rate
cuts, largely on products and services of mass use,
as a stimulus to drive consumption ahead of the
festive season. Whichever way one looks at it, the
GST Council's 28" meeting has significantly altered
the course of the nearly 13-month-old tax regime.
The \;l_cma\llrrlpact of these changes on product
prices and consumption demand will be visible
soon, but the government’s confidence In such a
rate reduction gambit indicates it is now comfortable
with revenue yields from the GST.

Estimates of revenue losses from these rate cuts
vary widely, but it's too early to worry about the
Impact on macro fiscal numbers. if implemented
well, the revenue lost could be offset by higher
consumption that may lead to more investments
over time. Moreover, improvements in compliance
can be expected from the Council's decision to
fyrther simplify Paperwork for sn_lill__ f_',‘i medium
two major concams. First,

enterprises. But there are
40318
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since the new rates are to kick in from July 27,
companies may not have enough time to rework
pricing strategies and replace existing market
inventory, failing which they could face ant-
profiteering action. Second, members of the Councll
have for the first time questioned its functioning and
alleged that not all of the changes and rate cuts
were placed on the agenda. For a tricky tax that is
still a work in progress, distrust between the Centre
and the States would make further rationalisation
difficult. Such friction must be avoided in a system
in which the States have so far worked
in tandem with the Centre.

102. Which of the following goods are exempted
from GST ?
(1) Carpets
(2) Cement
~—=43=All Rakhis with precious stones
(4) Sanitary napkine

103. What makes further rationalisation of GsT
system difficult ?
(1) Lack of compliance
(‘Q:,g:tt:;ct between the Centre and the
(8) Complexity in tax structure
(4) Anti-profiteering action

104. What is the consequence
GST rates from July 27t 2
~1)—Companles may not have enough time
to rework pricing strategies.
(2) Revenue from the taxes will be
@)
3

Simplified paperwork for small and
(4)

of starting new

medium enterprises.

Reduced conflict between Centre and
State.

105. The Goods and Services Tax Council has
announced a reduction in the tax rates for

over goods.
(1) 32 (2) 35
428

(3) 85
108. The tax rate on environmentally friendly fuel
. cell vehicles has been reduced to
(1) 10% (@ 28%

(3) 18% A 12%
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Q.No. 107-111 : Read the following passage
carefully and answer the questions glven
below.

The world is now warmer than at almost any time
since the end of the last ice age and, on present
trends, will continue to reach a record high for the
entire period since the dawn of civilisation, a study
has found. The study published in the journal
“Sclence”, aims to give a global overview of Eartn's
temperatures over the past Eleven thoueand three
hundred years - a relatively balmy period known as
the Holocene that began after the last major ice age
ended and encompasses all of recorded human
civilization. Their data (compiled by studying such
things as ice cores, fossils and ocean sediments)
looked back over a much longer era than previous
research, which went back 1,500 years.

Sclentists say It Is further evidence that modem-da‘y
global warming isn't natural, but the resuit of rising
carbon dioxide emisslons that have rapidly grown
since the Industrial Revolution began roughly Two
hundred and fifty years ago. Sclentists say that if
‘mu_ra_lh—cﬁ-_\'wn still governing the climate, the
Northern Hemisphere would probably be destined to
freeze over again in several thousand years.
Instead, sclentists belleve the enormous Increase in
greenhouse gases caused by Induatrlallzatlon will
almost certalnly prevent that.

Shaun Marcptt, a geologist at Oregon State
Unlvomlty. says global tsmporatum are warmer
than about 75 percent of anything we've seen over
the last Eleven thousand years or 80.* The other way
to look at that is, 25 percent of the time since the last
ice age, it's been warmer than now. It's taken just
hundred years for the average temperature to
change by 1.3 degrees, when It took 5,000 years to
do that before. By the end of the century, climate
warming models predict an additional increase ) of 2
to 11.5 degrees, duotolargoquantlﬂoaofcarbon
emisslons, the study noted.

40318 20
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107. in 100 years, what Is the change in the
average temperature ?

© (1) 11.5degrees  (2) 11.3 degroes
a7 1.3degrees  (4) 2 degrees

108. When did the Holocene begin ?
(1) Before the major ice Age
(2) Before the Industrial Revolution
(3) After the Industrial Revolution
ﬁyy/Aﬂer the major lo.s Age

109,  Additional increase of temperatures is due to
(1) hydrogen emigsions .
k2 carbon emissions
(3) fossils
(4) Ice age

110. Wh_at was the data for the research study
based on ?

(1) A global
temperature.

(2) Records of tomperafura in the northemn
Hemisphere.

_(3yAnalysis of ice cores, fosslis and ocean
“" sediments.

(4) Number of storms and ocean currents.

overview of earth's

111. The earth's temperature has Increased
quickly since
(1) 1500 years ago
(2) The Holocene
?(3)’ The Industrial revolution
(4) The Northern hemisphere
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1a.

Each of the following questions comprige of a
statement and two Conclusions | and IL.
Choose the correct alternative from the given
options.

Statement : Parents have prepared to pay
any price for an elite education to their
children.

Conclusions :
I. All parents these days are very well off.

Il.  Parents have an obsessive passion for a
perfect development of their children
through good education,

(1) Neither | nor Il follows.

(2) Only conclusion | follows.

(3) Only conclusion Ii follows.

(4) Either | or Il follows.

8o @S BH Y 28 (HEGLS, Bodk

Sovrey aTyow. B80S vSroed

OB (DErsirm) OIrR) SRSOA.

B¥LS @ SDGohen S8 Dy

VA SDS AW TEH o8 &8

BLoSTRZ DLO™ AT

avzm:

L &8»d $Q8othecssr esos
SSSohen,

O Hod Do oo 0 DROD
JOYgorT @Iy Takres)
DD SRS HYI HAY 0.

(1) LI S0 ed 5580199,

(2) 18080 ST S ©HBON0A.

(31 8030 SIS 003008,
(@) 180T 80780 ©HH0N0A.
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113. Each of the following questions comprise of a

statement and two Conclusions | and |II.
Choose the correct alternative from the given
options. ’

Statement : Whenever there is a match
between India and Pakistan, Mr. Acharyulu
takes leave from his office. Mr. Acharyulu is
in office today.

Conclusions :

I.  There is no match between India and
Pakistan today.

Il. Mr. Acharyulu always goes to his offica
except on India-Pakistan match days.

(1) Neither | nor Il follows.

(2) Only conclusion | follows.

(8) Only conclusion Il follows.

(4) Either | or Il follows.

80 adYS HNY 28 1HELS, Bod
BTN AT, 8O droad
ABS DB STV SN0 B.
(PEDLS : 3788, PETSO DS A&
80 30AT B EhH oY
REBE. vordHen & Sy wdhd
aar) .

dovyaren :

L 2008, >8YSe Qs & T eb
B,

I 208 8PS 5 edy 2008

T 8 wobhen &z
EHNH Iverd,

(1) LT S0ren 88580159.
(2) 180980 SMSH ©0I0N0A.
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114, Each of the following questions comprise of a
statement and two Courses of action | and Il
Choosa the correct alternative from the given
options.

Statement : The availability of imported fruits

has increased in the indigenous market and

so the demand for indigenous fruits has been
decreased,

Courses of Action :

.  To heip the Indigenous producers of
fruits, the government should impose
high import duty on these fruits, even if
these are not good quality.

. The fruit vendors should stop selling
imported fruits so that the demand for
Indigenous fruits would be increased.

(1) Both | and Il follow

(2) Only | follows -

(3) Only Il follows

(4) Neither | nor Il follow

808 DS NG 2.8 DS, Do

S8gen I, T daryom. ad)S drgad

BN [NEgir) o)) §0ffSod.

DEGS : B SrdySed’ Anha

TWOBS) Hod oS DB, TroH

Do@s Asrodl $00d.

S8gen :

L 305 a8 8orHos HI0HHH0
FE5, ®d HOD JoR 59H)es8
DFS 0 TED OMDES AOSR)
8035 DHord.

I 208 odfoardhey Ohde
B AU VRSN Hodd @80
DOBTVHBo Ses HhoH Dok
A3rol oHeévod.

(1) LI & e&doaron.
/m/ 1 35S 953808,
- (3) I3 903008,
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115. Each of the following questions comprise of a

statement and two Conclusions | and Il
Choose the correct alternative from the given
options.
Statement : A boss asked three managers to
either submit their resignations by the next
day or face termination orders from service.
Two of them had submitted their resignations
by that evening.

Conclusiona:
. The next day, third manager would also
rasign.
Il. The boss would terminate his sarvices
next day.
(1) Neither | nor Il follows.
(2) Only conclusion | follows.
(3) Only conclusion Il follows.
(4) Either | or Il follows.
806 AN NG 28 (H5LS, Dok
STTEN ATION. FDY AT
DS (HBgdr) AIrR) SS0A.
PELS : 28 08 s TS
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[P T AT DD o .
Sonaren :
L DA G arddsd D20 Srar
o dSr JT. '
I 6050 HHH8 &ord ®sd)
& siiod’ Sod Sonddb.
,m/l,n Soared 8338059
“ @ 180780 SMSD ©0H0008.
B) 11 &80 SHSH 0H8)0d.

@) I8 1 Q00 83008,

Serles-D


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

116. - Each of the following questions comprise of a

statement and two Courses of action | and Il
Choose the correct alternative from the given

117. Each of the following questions comprise of a
statement and two Courses of action | and II.
Choose the correct alternative from the given

options.

Statement : There are more than 200
villages in the hill area of Blhar which are
severely damaged due to cyclone and it
caused a burden on rehabillitation work.

Courses of Actlon :

|. Paople of hill area should be shifted to other
safer places.

Il. State Government should ask for more
financial support from Central
Government,

(1) Both | and il follow

(2) Only | foliows

(3) Oniy i follows

(4) Neither | nor li follow

8ot addyd H¥ S o8 |H¥S, Do

SO0 1, I I00. RDIS dSrd’
BB (PELSTL D) EHS0A.

BELS : HIBES'D o8 1os0S’ 200
50T 508 MSren &S sdeorr
SSor BaBIBo SO JSTTD
OSSO ardo HAOS.

S8 :

L %08 |dros Haed add Hoidé
romoi $8Hod.

L oR Whego, Sole 1Hzbesd)
5008 68 H3aho Ford.

(/(1)4.’1} ) ®IOFow.
@) 137SD HIBNOS.
(3) MAMEDH ©HI808.
(4) L1 e ®358059.
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options.

Statement : in one of the worst accidents on
arailway level crossing fifty people died when
a bus carrying them collided with a running
train.

Courses of Actlon :

. The train driver should be immediately
suspended for negligance on his part.

IIl.  The driver of the bus should be punished
for negligence on his part.

(1) Bothland Il follow

(2) Only | follows

(3) Only il follows

(4) Neither | nor |l follow
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118.

(1) TS SoB0Kw 5756 D0, )T DSD.

/
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Each of the following questions comprise of a

statement and two Assumptions | and II.

Choose the correct alternative from the given
options.

Statement : Training must be given to all the
employees for increasing productivity and
profitability.

Assumptions :
. Training is an essential component of
productivity.

IIl. Profitability and productivity
supplementary to each other.

(1) Both | and Ii are implicit.

(2) Only assumption | is implicit.

(8) Only assumption Il is implicit.

(4) Either | or Il is implicit.
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119. Each of the following questions comprise of a

statement and two Assumptions | and Il.
Choose the correct alternative from the given
options.

Statement: In the last year, Osmania
University has launched a number of
Innovative courses for the better future of its
students.

Assumptions :
. These courses may attract students.

ll. Osmania University is conscious about
the future of students.

(1) Both | and Il are implicit.

(2) Only assumption | is implicit,

(3) Only assumption Il is implicit.

(4) Either | or Il is impllcit.
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120.

The foliowing question consists of a
statement followed by two arguments | and Il
Choose the correct alternative from the given
options.

Statement : Should the strikes be banned
legally in India ?

Arguments :

| Yes. Because strikes hamper production
and create artificial scarcity of essential
goods.

Il No. Because the workers will lose the right

of expression and would be subjected to
managerial debates.

(1) Both | and i are strong.
(2) Only argument | is strong.
(3) Only argument Il is strong.
(4) Either |l or Il is strong.
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121. Each of the following questions comprise of a

statement and two Assumptions | and Il
Choose the correct alternative from the given
options.

Statement : It is desirable to put the child in
school at the age of 5 or so.

Assumptions :

| At that age the child reaches appropriate
level of development and Is ready to learn.

Il The schools do not admit children after six
years of age.

(1) Both | and Il are implicit.
(2) Only assumption | is implicit.
(3) Only assumption Il is implicit.
(4) Either| or Il is implicit.
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122.

The following question consists of a
statement followed by two arguments | and I,
Choose the correct altemnative from the given
options,

Statement : Should we scrap the 'Public
Distribution System' in Indla ?

Arguments :

L. Yes. Protectionism Is over, everyone
must get the bread on his/her own.

Il. Yes. The poor do not get any benefit
because of corruption,

(1) Nether I nor Il is strong.
(2) Only argument | is strong,
(3) Only argument Il is strong.
(4) Either!or Il Is strong.
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123. The following question consists of a

statement followed by two arguments | and Il
Choose the correct alternative from the given
options.

Statement : Is paying heavy amount to
kidnappers of political figures, a proper
course of action ?

Arguments :
I Yes. The victims must be saved at all cost.

ll. No. It encourages the kidnappers to
continue the blackmailing activities.

(1) Bothland Il are strong.

(2) Only argument | is strong.

(3) Only argument Il is strong.

(4) Nelther!norllis strong.

808 A0S (DA S 2.8 (D84S, Bod

TESW, I, T dTyon. a0y
SSrord’  BS  DEsryaidy
E0FS0A.

OFLS : oadoh TovHos Sy
TS 208 DY Jndos* Ay
RS 80 OB SBgo ?

ardSdSen :

L o0 Q800 208 Py DS
®onar §8 othSad.

I s 20088 2fF owdok
WO BoHads Sam H8d
(EV R TARTAN SIS0,

(1) 136, T SESen 20&D.
@) 16 SMSED 20 od.

f,,(ay/n TES SMSDH 2ODoA.

@) To6S, I SSSen 2OPID 5.
Series-D


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

=

124. From the following two statements, one Is an

Assertion (A), and the second one is a
Reason (R). These statements can be true or
false. Choose the correct answer from the
given alternatives,

Assertion (A) :india is known as a
democratic country.

Reason (R) : India has its own constitution.
(1) Alsfaise but R is true,

(2 BothAandHaretrueandH!athe
corroct explanation of A,

(3) BonmendRamtruemeiaNOTme
oorrect explanation of A:

(4) Alstrue but R s falge,
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o H& mrodos.

%%0 (R) : arSaBdo &% D30
orargotio $On @aoA.

(1) (A) B85S s, () NORA.

A2 (M), () e Bodkr 5880 $H8a% (),

(A) 50 B DSSes.

@) (A). (R) &0 Bodr 388D 58, H8a%
(R). (A) 50 OB D368 3%,

@) (A) ABIS, (R) $BIA e,

125, Frommafollowingtwombmonh. one is an

Assertion (A), and the second one Is a
Reason (R).Th«omtemonhcanbetmoor
faise. Chooumeoorroctamworfromm
given aiternatives.

Assertion (A) : Water is essentlal for life,

Reason (R) : It is formed using three parts of
hydrogen and one part of oxygen.

(1) Aisfalse but R Is true,

(2) Both A and R are true and R is the
correct explanation of A.

(3) BohAandRaretruobmnlsNOTm
correct explanation of A.

(4) Alstrue but R is false.

808 23583 Bodk (HSSS' 2568
DBISS (A), 2B sSe0 (R). &
ABSD $Sedy, 83) 3. 8o [N

(SEpsry aird’ ol 3D DITErRrd)
SO AT )
BaES  (A) dDedd  dw
QB ISHE0.

TOWO (R) : &8, Sk 27me =S,
&8 grtfo &8s o gor NS DIA.

(1) (A) OBRO S, (R) 5BSA.

—&r (A); (R) &0 Bodir 588D H8ckn (R),

(A) 80 DB DS

@) (A), (R) 0 Dodir PSD ), HBak
(R), (A) 0 3B DS s,

(4) (A) SBIS, (R) BIS 5°¢%.
Series-D
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126,

127.

128.

130,

In a group of five persons P, Q, R, S ang T
one plays Tennis,

T 6T 08 Ssardros®

DIPOS” 5 D3 escsams, 2
T @ P _gra

Rama bought a new chair for 20% discount,
Had Rama got no discount, Rama wouid
have paid ¥ 350 more. How much did Rama

pay for the chair 7
S 8¢ 5830 20% AR08 £5y 4,
&8 I 50% ARm.085 S0 yodsra
S T 3580 dEoy TIQotses A,
5830 8% VOIS D T A ?
(1) T1,400 (2) 2,100
(3 ?1.750 442 1,050
What day will be the 81% day from today, if
today Is Monday ? -

(2) Friday

(1) Sunday
(3) Monday (4) Wednesday

& S SO d0 BAIDANS, &S oy
D048 81 &S B & 6o 03008 7
(1) @S0 L HiE>so

(3) ¥a>s0 _ @ 2080

Find the correct number in the following in the
place of ‘7',

OG0 (2) o FOTOS IS

4

4 R

QOB S50
13 _[28 48 57
1 28 |37 42
17 124 |28 ?
(M) 28 2) 23 @) 27 (4 28
A triangle hag three sides as 5 ¢m, 8 cm and

9 cm. What is the area of that triangle
(approximately) ?

(1) 20 em?(2) 15 cm2(3) 23 em?
&8 (8ZHB0 &) Zhasswen 5 0., 8
V0., 8 2040 & (82920
QS Brerso o (Tym) ?

(1) 20 Ro0.Hy? (2 15042

(3) 23 Ro.hy (4) 18 o.Sy2

132, A 500 metres long train with 90 km h

130.

AY2,150 Hrexhy

- “Noose the correct answer from the
given alternatives -

Assertion (A) : In India, the judiclary is
ndependent of the executive,

Reason

of its plans,

Afefalsabumletrue.

Bou-aAanldRaro‘tr‘uleandRIsme

Correct explanation o

(3) Bom.‘\aﬁﬂarotruebutRIsNOTme
correct explanation of A_

(4) Als true but R s fage,

808 BSs8S Bosy (OSdored 2,508
DS3SS (A), TS e300 (R). 22
VDA TSk, &) 5%, 8068 C-TARN]
(msSomy ¥ 00 0. DIPR)
AV NTeY.

DOJ;ES (a) OSTFoS* s
SSP,  wos RS g8 SgIPHen
Ssdoigorr DATPow.

880 (R) ; A0 g8 (99Z0hed s05¢)
AUTS  Foas* SSTON, uerd
RTESN0A,

(1) (A) IBSS e, (R) VB,

) (A), (R) & Body NBS S8k (R),
T (A 3BS D38,

A, (A) 0 Bodkr 5850 98, $s80%

(R), (A) $0 5B DSSeo s,
(@) (A) 388G, (R) RADIA 5°¢%.

Speed

Crosses a bridge N 90 seconds. What is the
%e ? 1,500
- m

length of the b
& 1m

m 2,150 m
3) 1,750m
fe 2.8 Bew ot
VO8I 90 DEIS
o8, 8 308y DSJ0es ?
(@) 1,500 ey

1,750 e  (4) 1.850 DerH

(3)
The ratio between the circumferences of a
Square and a circle i8 7:11. What is the ratio
of areas of the square ang circle ?

&8 WGHAD, S e htpSoee)

A8 711 wand, e HAw
SBINS Fregsne NA)E dod ?
() 2858 (2) 7:22 (3) 2277441 4g:68

S6)dod!,

-

A


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

134. Rakesh ranks 15" jn the class of 42 students
and there are 8 students below Ralesh rank,
How many are there between
Rakesh and Rajesh ?

42 oA dorshen He 2.5 SSKBS" o En
3y orgod 15, 03N T"3050 5o 80
8 OB &), BN, oHN A gt

16 (3) 17 (4) 18
138. Find the correct number in the following In the

place of ‘7',

(DFIF50 (7) PSoS* oBS s DB
QORI FMS0A.

18 [ 2 32 p
S
20| 47 4l
(1 4 (@ 28 (3) (4) 34

Q.No. 138 to 140 : Read
carefully and answer the Questions glven below :

AB C DEFGeoT7 508 DTS DG
E5BS Fhyen Sokpsel VI), 08, P8,
Srs@bhess), Sy, SRS, ki
28 5008 ssonr BPH&ha) &, 0S8 (58
2580 04 85388 Sorben QHYH, deo,
B35, DS, 002, |1, Bvgyerds uzf (FSvoes*
ST AYBMBTYH, oS S
DA Fen A § H03 Soih et A0 D eSS
S8, PBen SASS0 Teso, 08y ST 558
DIPE, S |7 Sorrersy 2200 F G

S0 RPH S,
DS a35t5) SomHa AYdhaA, g ]
OO, C 30028 SoMerds FPISESD, Hevo
Sothd agsd 558 ST WEHD INTANEL T
40318

C &gy 3765 O F 98

138.  Which subject is studied byC?

137,

138.

138,

140.

141,

142,

143,

(1) Computer Science (2) Commerce
- (3) Economics (4) Communication
CHPED BEDIST?Y & 7
(1)_S0se8 RS) (2) =%8)
s (4) SmDENS

Who is studying Computer Science 7
o8 DI S Syt ?
MDD & A 3 E @ C
Which of the following combinations of
colour - person and subject is correct ?
(1) Biue-D-Economics

@ Blue-D-Mathematics

(3) Pink-F-History

(4) Orange-C-Commerce

& 1508 o8S* So - S8 - SPFo D
QO™ HJSA 7 ‘

(1) boo-D-aDSRr&bS,a

Mvo-n-érgémdga

(3) DOS-F-2r
4) S8oz-C-ov08,

Who i studying Commerce ?

505 ) a5k DT & 7

() E @A @c 4) B
Which of the following is the group of females ?
(806 oe8es’ D Barrn Sor¢en ?
(DABE (2) BOFAIBEF@4)AEF
Find the correct letters in the following in the
places of 7,

O 5% (7) oS 20T D) /S
&F 0O FHAS0A.

ADHN,VH, 2, ?
MUA® Tza xm @ vn

Find the correct number in the following in the

place of ‘7",

(L) F50 (?) oSt OIS HBS

VOPLN EFS0A,
1 2

= 1
8 (10 [14 32
9 123 |26 ?
(1) 8 () 36 (3) 66 (4) 46

Find the correct number in the following in the
place of ‘7",

OFT8%0 () Fsos H0TD)S HJS
éomﬁeg EQDRS08.

18 15
12—@45 12-@29 11-@4’3

8 _- 20 18
(1) 14 @1 312 @ 10
v Series-D
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144.

145.

146.

40318

Select a suitable figure from the four
alternatives that would complete the figure
matrix.

8od Herd) OG0 TAHadE HBS
DEFVY 1808 @DIS ek
(SB5br) O 0B H90s0M.
Problem Figures / 5Xsas Hérer :

3T
L
v e B

Answer Figures / S3rgre Hérey :

nd e E N

(2) -(3) 4)
Mm4 @ 1 () 2 4) 3
Choose the alternative which Is closely
resembles the” mirror image of the given
combination.
Bos ad)s Ho&rKo Qs S8y
B8DoardE o8  AShsr  @od
(DE5eSr) ) NS 0A.
ANS43Q12
1. AUBREQIS SFOEAZHA
3. CSHAEMOST 4, ISOMEAM2E
M4 @1 @2 @3
Choose the figure which ig different from the
rest.
1808 SBS’ DSy S D0 DA ?

§ 4 3 3

1 X a3 X 2| &2 | AN,

2|3 5|1 s\ | /4

ﬁ(/l) (B) (C) (D)
’ D @ A (3) B @4) C
147.

Choose the figure which is different from the

rest.

1808 7¢36° DY S H430 DA 7

N () N N

2C|cUC|aMIC(oCH
o M () N
(A) () (D)

MDD "2 A @B @c

148. Eight boys are sitting around a circular table
and drinking milk in their own separate
glasses with ID numbers 1 to 8. Boy-2 is
sitting between boy-6 and boy-7, boy-1 is
sitting between boy-8 and boy-5. Boy-3 is
sitting to the third left of boy-7 and boy-8 is
sitting to the third right of boy-4, What is the
position of boy-5 with respect to boy-3 ?

(1) Third to left (2) Second to right
(3) Second to left (4) Third to right

100 8 5550 h80JY Jomeen DAY 8
DO 2rendy 2.8 NTTEY 2O Kéyr
SrBID A0 TS & dew
TSR 0. 285 2reNA; 6, 75 s
De5geSt 15 arendy; 83, 5 rend
SIS ST, 385 arendd 7
ZAE ISBKDE reS Poos 8%
TOD, 45 B8 HADE Sards
Fv0S’ Sy, 5 ey, 39
2rend SyaTs 88 AT ?
(1) B (D) S8 Frsocs
@) 108 o8 Yo
DB |05 ol yrsos

(4) 58 5% Srd Fsost

149. Study the following arrangement of letters
and characters carefully and answer the
question.
#6BG @ IL73HA%ODFKEBJQ1*

VTU2sWwW
If B% = LK, what is equal to AB ?

o8 ) wioe, HBe @HBES
ST ©OIoHS0  TID, (%) %
QAT S0 ovaHod.

#6BGQ@IL73HA%ODFKESJQ1*
VTU2sw

B% = LK )8 A 8 T8 Hirso ?

(1) @8 (@ EK (3) OF (4) KF
150. P, Q,R, S, T, U are seated in a stra ht line

facing North. R is third to the right of Uand Q

sits second 1o the right of R. S sits to the

immediate right of P. Which of the following

represents the pairs of persons sitti exactly
in the middle of the line ? "

P,Q R ST U a8 36055 asso
QYR Sy Sy &. R, U gy
S8 DK Wrds Feos Q, R & HA
BHRS Bod PIoS srdHyys. P 8
D6HS HHA3H s ey, 1808
T8’ D 208 SHHES* DD )Somr HHessSt
S TS ?

(1) SR (2 sa UQ @4) as
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8. Please get the signature of the Invigliator affixed |8, AT @0d’ Eeravonnds QOOG‘ Q:‘O.sm
In the space provided in the Answer Sheet. An SotEo BiuStod. qbsﬁdﬁ Souso B ArgrR
Answer Sheet without the signature of the =
Invigilator will be invalidated. Candidate should o J Setberich, S S Lo
sign in the space provided on the OMR Answer |  S37gPS 3@08" Eeronods -§°°6' SH RO
Sheet. Sodto Safed.

9. Rough work should be done only in the space |9, EEms@od’ Seronods Pood® Imgd D 39
provided for that purpose in the Question Paper B0%B%s. s8¢ Kasta ) Sk, Biinges Serd
Booklet. No loose sheet of paper will be allowed 4 '
into the Examination hall, 63'3 D 388 ano'm BRI

10. Do not mark answer choices on the Question 10, (57 Sored’ SSrorre Kotgdiatio Ao
Booklet. Violation of this will be viewed serlously. .

11. In case of any discrepancy between English and 11. & oo BT S0 sond o Benld, aoé,‘_'\
Telugu Versions of the questions (in Bilingual & .,

@
Paper), English Version of the guestion shall be ;5950 35‘6;5_)@&) qob.xé‘gw aﬁ;&&é%
viosted 86 Snal S $8KeaE'S B8 nebi.

12. Use of Calculators, Mathematical Tables, Log [12. 385 K8&° wodu By, Srgumdss Sedy, of
Books, Pagers, Cell Phones or any other electronic why, dely, vE PS5y do0 O ey dogE
gadgets Is strictly prohibited, SRDOW AVTrAoSE K):JQO

13. The candidate should write the Booklet Series and |13. 720858 5‘5_36' S Doswess 6 Sg§is dsoe
Sign in the space provided in the Nominal Rolls OSBRI 5.’)35595?5?3\21 SO el SEESds
while ensuring the Bio-data printed against his/ [ ®)S@o @Buy, Hh% 38 &8 & o2
TS yp— roavosnds goos’ ob Soito Bad.

14. No candidate should leave the examination hall 14,:65 W‘ﬁ’.‘; el ale 0.8, g4l Yo $8¢ nad
until completion of examination time. 289 3@&:’.‘0& S BONEES

15. Before leaving the examination hall, the candidate |15, :55 X500 565 KA H0d 2ahHeath 3;5 Snoth
should handover the OMR Answer Sheet to the

egi0 OMR & SE°R) ad28LE%
invigilator, falling which action will be taken for | © o CoS8 T S W .
malpractice. EHOS0m 9-5.)’*00 30, & m:_’.wlf"é“
Sots Ste0 S8 .
(Continued on back cover page.)
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16.

17.

18.

19.

Candidates are permitted to take away the Question
Paper with them after completion of the exam.

The script will be invalidated, if the candidate :

(i)  Writes the Hall Ticket No. in any other place
of OMR sheet, except in the space provided
for the purpose.

(li) Writes irrelevant matter, including the
religlous symbols, words, prayers or any
communication whatsoever, in any place of
the OMR Answer Sheet.

(iil) Uses other than Blue/Black Ball Point Pen
to darken the circles.

(iv) Forgetting to bubble the Test Booklet Series
or bubbling t:nu!tiple Test Booklet Series
Codes or Hall Ticket No. other than allotted
to him/her. :

(v) Wrong/erroneous/incomplete bubbling of
circles or using v or X in the circles.

{vi) Using of whitener on the Answer Sheet.

(vii) If attempts any type of tampering (rubbing
the circles with chalk ‘powder/scratching
the circles with razors etc.) on the OMR
Answer Sheet.

{viii} Adopts any method of malpractice.

No correspondence will be entertained in this
matter by the Commission, if the Answer Sheet of
the candidate is invalidated/rejected due to the
above reasons.

The digital copy of OMR Answer Sheets will be
made available in the Commission’s website
immediately after completion of the Image
Scanning.

16.38% esdosstio B SO eghsthen &5 oy

S ehsisy,

17. 25 0225 (800 Q S0t Doydsd edd SIrerd

S|go Sarorgoso Sabestics.

() OMR Z3rgrs I@oD F*EetB8eS Sowthdn
028 Seranods ool 55 O 386 Foos®
TR, ‘ ‘

() 38gs sr@wo dowogo & J3ano,
AT | O JoWOG VI, ITre, Ergdan
8o 9 300 RIPTTPHT HTW IGoR
ol ona,

(i) Symom Joserdd ap/gs ood oot
DR0%0 T D FES Dok S AR,

(iv) w825 HER Bor 535 §'Go wfjof Sanec
DOV B e.58 57 dxnpd ebBe
DEHOW TR, B IS ¢356T Sowwd T
ol I,

(V) DISFED DSOD I)TOI SV /
eogrgor JodsS ds v do0 X soit
5o Hemed Abss

(vi) BSrgs Dos” 8g bov (3)8)s:
ASTrACNSS,

(vil) SErgrs S@op Koo TEoh 2ubE
Gogeo, F&8 Aowo Soel oo
So)ddgond

(vill) © D523 98 @50 3o eS0ododsd

18.3 O SUmoSgRsir egige Mt e Sgre
Soreroso SabentonT /8 Saveadsr, &
3008 HHASE DIEHS Jodope
OHDI0IED.

19, 5055 T ©060 wgEGo OMR SSrers SEre
B, 868 sdo, Fbd MPof wows dotx
52055 3§ 258 wotherind® soisedi.
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